MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 4)

CHALLENGE N -
5 —0.001 x (—2.82) = 1660 —0.09 x 0.0351 =
52 5 x (—0.097) = w7 0.1 X (—0.44) =
53 (0.0008 x (—0.462) = 168 (0.01 x 4.12 =
5 —6 x (—164) = 169 —0.0004 x (—0.0013) =
5)0.0006 x (—36.7) = ) 0.6 X 43.7 =
56 0.009 x (—0.256) = 1) —(0.0003 x 0.034 =
57 —0.05 x (=3.08) = 112 —0.01 x 30.5 =

59 —0.003 x (—0.191) =
159) —(0.01 x 14.2 =

w60 —0.001 x 297 =

) —0.007 x (—0.0151) =
162 —0.11 x (—0.0453) =
w6 0 x 0.0108 =

w60 0.0008 X (—0.4) =

165 —0.007 x 45.4 =

Mathematics: Multiplication - Level 7 - Horizontal - Set 4
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0.001 x (—0.435) =
0.0003 x (—0.0433) =
0.08 x (—48.9) =
—0.005 x 43.6 =
—0.07 x (—421) =
0.9 x (—255) =
—0.03 x (—0.257) =

0.006 x (—132) =
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